16

15

14

13

12

11

10

o = = — \ ) — T (&) L L () (&) (a] <C
16
2000 1150
A |
( D
N <v>\\\\\\\\\\\\\ . [ 15
\ @\
\ 1
: @ T S T S “
>0 - P8 e = ki | 8)
\\, W/// ‘ [ \ \ \ ! -
OO ~ :E/f—' L% i
O i I Q -
16 7
S 13
E ‘.~“ ‘G’
B
—f
T~ N !
C &
oM N o
i ! 12
) B
@)
\_/7 AN |‘ AN [\ 4 : \‘Ill:| l:ﬂ\‘l N/
Front view JC B .
Scale: 1:5 | Left view B
A Scale: 1:5
11
/
10
AN = . Lo N
N O
N Section view B-B
Scale: 1:5 —
Section view A-A
Scale: 1:5 9
9
~0) s
8
/ S
O ‘,f// Section view C-C
O "‘Q Scale: 1:5
S\ —
R c
L w0
< 7
\Q@
»& \QK%\‘*
A\
© o ) -
: Fh e i,
QO /Z ‘Il |‘ @ AN 4
Bill of Material: KSAVSTA0100 6
Number|Part Number Name Quantity
1 KSAVSTAO101|Jack Base 1
2 KSAVSTAO102|Jack Lifting Platform 1
3 KSAVSTAO103|Pivoted Cross Member 2
4 KSAVSTAO0104|S1lider Cross Member 2
5 KSAVSTAO105|Roller Wheels 8
6 KSAVSTAO106|Roller Pin 4 5
— 7 KSAVSTA0107|ISO 2341 CLEVIS PIN 25x130 STEEL WITH HEAD TYPE B WITH SPLIT PIN HOLE 2
@ - — ‘ 8 KSAVSTAO0108|Cross Member Mid Pivot Washer 2
- - | - Wﬁ §: \f 9 KSAVSTA0109 Split Pin roc-8080-510 2
R =i I Q: }/\ 10 KSAVSTAO110|ISO 4032 NUT M14 STEEL GRADE A HEXAGON NONPREFERRED 4 —
T 11 |KSAVSTAO111|CLCD 32 195103214 2
: I 12 |KSAVSTAO112|CDH1MP3_50 28 300A3X_Cylinder 2
| LS 13 |KSAVSTA0113|CDH1MP3_50 28 300A3X_Piston 2
fffffff 4+ | \<[ 14 |KSAVSTAO114|CGKD32_193349798 2 4
fr! | o= ::LT 'W_ﬂ \j 15 |KSAVSTAO115|CLCA_32 193045816 2
lﬁ gl = i ﬂ!’w - ﬁ: i 16 |KSAVSTAO116/Connecting Member Push Bar 1
****** ”ﬁ’_‘h“ﬂﬁ“‘:— S ti% @ 17 |KSAVSTA0117|Cross-member Connector 4
] k__jc | 18 |KSAVSTA0118|Air Cushion 4
(. ————— 19 |KSAVSTA0119|/ISO 4014 BOLT M14x140 HEXAGON 4
|! | !! ’ 20 |KSAVSTA0120|/ISO 4762 SCREW M14x45 STEEL HEXAGON SOCKET HEAD CAP NON PREFERRED 8
LJ']' / 21 |KSAVSTA0121/IS0O 4034 NUT M12 STEEL GRADE C HEXAGON HEAD 8 3
\\\\\\\\\\?iqf4ﬂ // 22 KSAVSTA0122|ISO 4762 SCREW M12x110 STEEL HEXAGON SOCKET HEAD CAP 8
N B ’ 23 |KSAVSTA0123|IS0 4014 BOLT M12x110 STEEL GRADE A HEXAGON HEAD 4
\u | | 24 |KSAVSTA0124/1SO 4014 BOLT M12x80 STEEL GRADE A HEXAGON HEAD 8
— 25 KSAVSTA0125|ISO 4032 NUT M12 STEEL GRADE A HEXAGON 12 —
Detail D Isometric view 26 |KSAVSTA0126|IS0O 4762 SCREW M10x40 STEEL HEXAGON SOCKET HEAD CAP 12
Scale: 1:1 Scale: 1:10 27 |KSAVSTA0127|ISO 4762 SCREW M10x35 STEEL HEXAGON SOCKET HEAD CAP 4
Detail E 28 KSAVSTAQ0128|IS0O 4032 NUT M10 STEEL GRADE A HEXAGON 4 5
Scale: 1:1 . .
This drawing is our property. DesJ_gn of Mobile Jack for
It can't be reproduced . .
or comnunicated without Lifting Clay Model of Cars
our written agreement.
DRAWING TITLE
DRAWN BY I
Venkatesh S Mobile Automotive Jack
CHECKED BY SIZE [DRAWING NUMBER REV
Ing. Petr Zeleny | ag 0-KSA-VSTA-01-00
DESIGNED BY
Venkatesh S SCALE  1:5|WEIGHT(kg) 670 SHEET 1 1
L] L] L L]
0 N M K F E D C B A




16

15

14

13

12

11

10

o
X100
‘bQ
70
Front view . S . 40
Scale: 1:5 8xM14 holes S 9, o
o sl . . . ‘ 1500 30
o +l P b‘
S o ° o 190
+ Te) 3
o lo) o D o) o) \\ o ® > \( =N -
Yo ® e L 28 [ e N I N ™ 5 ‘ (5 B B ~ | -
T ) 5 5 [ T T L1 | i ~ 4 _ O I [N seriuy 1: iy S
fi fro @ o o f ‘ o ‘ —fr i i N
i | %g/ﬁyﬁJ H ~ w© iﬂ L—:::::::It::::::::::::::::::::::::::::::::::::::::::::::jﬁ:::::::—J'm = @
M10 Q . ‘ .
4 ®‘?/ 305 z0.05 40 *0.05 40 £0.05 305 *0.05 | 305 *0.05 | 40 £0.05
575 | ' ' | 2000
40 +0.05 305 +0.05 130 *0.05 365 +0.05 Left view
Scale: 1:5
90 205 560
70 o
—To 5lcC 1150 O
—= 20 20 73 120 M16x20 hole
(o)
8xM10 holes B / © “30
115 90 C 120 73 40 o I D S N R B
| N~ o /
0| o /
- ™ 3 . .
@ @ @
o To) o
m ¥
e :::::{7 -—t - 7}3:::: —_— - —
B B Section view B-B
Scale: 1:2
® o ) @
50 245 73 174
Q
s o
o
_>‘ /I r | | ™
~ -
11 Oﬂ
o o A
3 2, L D .
~ 3 Section view A-A
Scale: 1:2
o
® ) o @ 2 =
Section view C-C
‘ ‘ Scale: 1:5
T T ] T T
b b 1 b b
@ | @
||
8xM10 holes 43*
C | 2,
560
Top view
Scale: 1:5
This drawing is our property. Desj_gn of Mobile Jack for
It can't be reproduced . .
or conmunicated without Lifting Clay Model of Cars
our written agreement.
Isometric view T DRAWING TITLE
Scale: 1:5
Venkatesh S Jack Base
CHECKED BY SIZE |DRAWING NUMBER REV
Ing. Petr Zeleny | ag 0-KSA-VSTA-01-01
DESIGNED BY
Venkatesh S SCALE  1:5|WEIGHT(kg) 187 SHEET 2

0 N M L K F E D C B A




(@] = = — X T D] L L () (&) m <C
Front view
Scale: 1:5 400
\ \ \ \ \ \
I | ==t 1T >~ 4 Y N
L‘@{% ?ﬂ’ii 4 \::;EEEQZ::::::Lz:iziJii 77777 Aifg‘k# 8
2000 \\\fzg 1150
50 1700 120 _
A Left view
T —/0.5|B Scale: 1:5
crre 0T i)
[ il
\ 1] |
| |
| |
N
o | | | \\\\\\ Detail C
| | | . Scale: 1:2
) | | | .
| | | AN
| | AN
| | '
| | | \
o | | 4 \
= | | \
\ S \
(o]
| | | \
| | o o | | \
| | © 10 | ] !
. ‘ | 18 - ‘ i |
B | \ B NN L |
‘ ‘ o N~ *‘J ‘ ‘ I
| | o) \ | /
| | \ | | /
P — — T ﬁ/
‘ L]
| i
\ C \ o 100 50 ©30
‘ Q>
|
|
|
|
|
|
————————————————————————————————————————————————————————— Jé/ Section view B-B
‘ Scale: 1:2
1ﬂOO 150 1580
3
I~ L
o / N L |
Top view o) //szii;// T o
Scale: 1:5 o ™~
L0 o iy Ay < = Z]
= ///k/ //%/K/A T T ig _ g e
<
170 90 60
1750
//;éiié?f?// O
N~
I g o
O <
e Sy 7 eyt A~ ~ ey ey ey - o o™
/ Al
o
90 283 110 184 This drawing is our property. Design of Mobile Jack for
It can't be reproduced
or conmunicated without Lifting Clay Model of Cars
Section view A-A TR, ' DRAWING TITLE
Angle 90 ) i
chle: 1:92 Venkatesh S Jack Lifting Platform
CHECKED BY SIZE [DRAWING NUMBER REV
Ing. Petr Zeleny | af 1-KSA-VSTA-01-02
DESIGNED BY
Venkatesh S SCALE  1:5|WEIGHT(kg) 247 SHEET 3
| | | LT 1 LT 1
0 N M L K F E D C B A




T o L Ll =) | O ) | <
10 1486
C) Z Front vi | Lo
N © .v1ew 4xP12 holes A C
To) Scale: 1:5 T ™
N ‘ /-
i 2 S L9 Il
/\@ 7777777777777777777777777 S )ﬂ
0 46 £0.05 L
Z 478 %0.05 175 +0.05 90 A Left view
H o Scale: 1:5
© ©
o
I,H 77777777777777777 L 77777 flu*i*‘#7777777777,7f7f7f7,77,77,7f7,77‘,‘ :.::.
T7“:1: ***************** oo — — - v - - - - - - - - - - - - - \J@nﬂ
B B
Top view D
Scale: 1:5
o 0 /
|
/
Detail D 6}
Scale: 2:1
< <
//
Section view B-B
Scale: 1:2
()
N
This drawing is our property. Design of Mobile Jack for
. It can't be reproduced
Detail C or communicated without Llftlng c:l_ay Model of Cars
Scale: 1:1 our written agreement.
o DRAWING TITLE
— DRAWN BY
Venkatesh S Pivoted Cross Member
10 Section view A-A CHECKED BY ~ |SIZE |DRAWING NUMBER REV
DESIGNED BY
Venkatesh S SCALE  1:5|WEIGHT(kg) 25 SHEET 4
| | | | | | | | | | | | | | | | | | |
H G ! ! ! B | A




T L L ()] o (28] <
74
3 A 5
- 8
! N~
77777777777777777777777777777777777777777777777777777 m
&i ] D M
iiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiii i
o r
: f} Left view
Front view Scale: 1:5
Scale: 1:5
‘ 1614 ‘
I\ilii 777777777777777777777777777 \. ‘J 1I117I
Tﬁlw‘wv *************************** \- - - - - - - - - - - ‘J_"I""'I4T g
B B 3
Top view o
Scale: 1:5 ~
46 167
\\\\
\\\ e 4
\ N L O
) o)
/rj x = <
/ 7
| \2 y}
Detail C . . o 121
Scale: 1:1 Section view B-B |
ﬁ Scale: 1:2
This drawing is our property. Design of Mobile Jack for
It can't be reproduced . .
or_connunicated without Lifting Clay Model of Cars
our written agreement.
o DRAWING TITLE
— DRAWN BY
Section view A-A Venkatesh S Slider Cross Member
10 Scale: 1:1 CHECKED BY SIZE [DRAWING NUMBER REV
50 Ing. Petr Zeleny | a3 3-KSA-VSTA-01-04
DESIGNED BY
Venkatesh S SCALE  1:5(WEIGHT(kg) 26 SHEET 5
| | | | | | | | | | | | | | | | | | |
H | 1 ! B | A




(] (&) o <C
F————————
|
|
)
26 £0.05
Left view
Scale: 2:1
This drawing is our property. Design of Mobile Jack for
] It can't be reproduced
Front view or communicated without Lifting c:l_ay Model of Cars
Scale: 21 our written agreement.
DRAWING TITLE
DRAWN BY
Venkatesh S Roller wheels
CHECKED BY SIZE |DRAWING NUMBER REV
Ing. Petr Zeleny | a4 4-KSA-VSTA-01-05
DESIGNED BY
Venkatesh S SCALE 2:1|WEIGHT (kg) 0.2 SHEET 6
T I I I I I I I I T
D ! ! A




50 x0.05

Left view

Front view Scale: 2:1

Scale: 2:1

This drawing is our property. Design of Mobile Jack for

It can't be reproduced

or communicated without Lifting c:l_ay MOdel Of Cal‘s

our written agreement.
DRAWING TITLE

DRAWN BY

Venkatesh S Roller Pin

CHECKED BY SIZE |DRAWING NUMBER REV
Ing. Petr Zeleny | a4 4-KSA-VSTA-01-06

DESIGNED BY

Venkatesh S SCALE  2:1|WEIGHT(kg) 0.06 SHEET 7
| | | |

| ! A




T (O] L L () (&) m <C
o 4x?12 holes 4x?12 holes 4xd12 holes
e o A
To) <
A 7@f77TT777ﬁ ***** @****@**j{* o &¥
—e .. D - — O ™~
S o) o 10
- 50 %0.05 130 +t0.05 50 *0.05 . —
° N~ 75
o 162 20.05 1130 20.05 158 =0.05 |
Front view Left view
Scale: 1:5 Scale: 1:5
1>
Q"
Vs
740
- ¥ —l——— — 2 — — — _— N _—— — //
Top view
Scale: 1:5 _
Detail A
Scale: 1:1 B

This drawing is our property.
It can't be reproduced

or communicated without

our written agreement.

Design of Mobile Jack for
Lifting Clay Model of Cars

DRAWING TITLE

DRAWN BY

Venkatesh S Connecting Member Push Bar

CHECKED BY SIZE |DRAWING NUMBER REV

Ing. Petr Zeleny | a3 3-KSA-VSTA-01-16

DESIGNED BY

Venkatesh S SCALE 1:1|WEIGHT (kQ) 15 SHEET 8
H G I ] ] ] ] I ] ] ] ] ] ] ] ] ] ] ] ] I B | A



o | (&) m <
25 %0.05 17.5 +0.05
Rs 10 Qﬁ
Front view —
Scale: 1:2 7< 2x012 holes
+ >/
/96‘ CD {V 0
N [ NI Lo
Lo =
- 79
0 Left view
- Scale: 1:2
It
0 2xP12 holes
N~
| {g IR
This drawing is our property. Design of Mobile Jack for
g G} - It can't be reproduced . .
: ] or communicated without Llftlng c:l_ay Model of Cars
bt b our written agreement.
0 DRAWING TITLE
N DRAWN BY
© 20 *0.05 Venkatesh S Cross Member Connector
<< CHECKED BY SIZE [DRAWING NUMBER REV
Top view Ing. Petr Zeleny A4 4-KSA-VSTA-01-17
Scale: 1:2 DESIGNED BY
Venkatesh S SCALE  1:2|WEIGHT (kg) 1 SHEET 9
T I | |




